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1. REBREOHE
(1) FEIRR
EXUREERR 622 800 -178
HEEEERD 36 38 -2
ZTMEE 1,204, 400 1,234, 200 =29, 800
ERINEE 3, 884, 872 2,722, 845 1,162,027
TN EF 34,164,200 36,038, 840( -1,874, 640
IR 1,905, 963 2,718,753 -812, 790
EEIIE AT 41,160,093[ 42,715 476[ -1, 555, 383
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EXE 22,060, 632 22,010, 023 50, 609
BHREEFEG) 1,651, 956 1, 883, 261 -231, 305
DHEMRER (1) 570, 426 330, 706 239, 720
BMOLHEFEGE) 1,964, 226 2,488, 600 =524, 374
HHRBEER0) 2,884,992 1,725, 626 1,159, 366
HEEMEE (R 2) 2,203, 691 2,767,519 -563, 828
BREEEEXH3) 91, 348 115, 786 -24, 438
ZABREX 239, 640 300, 883 -61, 243
SAXEEX 2, 846, 030 1,900, 000 946, 030
EBERIEHESEE 0 1,396,020 -1, 396,020
BR3t - RIRBFAER 0 0 0
EEEMOIRE 9,608, 323 9,101, 622 506, 701
EEE 17,984, 004 19,498, 111 -1,514, 107
REE A 40, 044, 636 41,508, 134 -1, 463, 498
FHlR I F AR B AT L AR BB RER 1,115, 457 1,207, 342 -91, 885
Bl E RSy 0 0 0
LR EIBRE 1,115, 457 1,207, 342 -91, 885
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(1) EESREE
RESMRIEE 0 0 0
(2) #ENER
RENERAR 0 0 0
LERESMBRER 0 0 0
5518l 2 B — AR IE KB EE 1B IR ER 1,115, 457 1,207, 342 -91, 885
EAB. ERBRUVERR 71, 000 71, 000 0
48— AR IE R B4 EE IR R AR 1,044, 457 1,136, 342 -91, 885
—REKMEHEERS 53,281,846 52, 145,504 1,136, 342
—RRIERBMERRES 94,326, 303[ 53, 281, 846 1,044, 457
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ZMHEBEF 11, 900, 000 10, 600, 000 1, 300, 000
TWEREMRE 11, 900, 000 10, 600, 000 1, 300, 000
—RRIERREAEE~ DR EEE -11,900, 000 -10, 600, 000 -1, 300, 000
—ARIERREA EE A~ DIREEE -11,900, 000f -10, 600, 000{ -1, 300, 000
2 245 7€ IE IR B4 EE 1R EE 0 0 0
EEERMEHEZRS 0 0 0
HHEERMEHRES 0 0 0
I EEBEOH
LR SIERER 0 0 0
EEHEERS 0 0 0
EEHRES 0 0 0
V EKRHEHARES 54,326, 303[ 53, 281, 846 1,044, 457




